#### **MEMORANDUM**

TO: NWABSD Board of Education

Members

NUMBER: 26-050

DATE:

FR: Office of the Superintendent SUBJECT: Staff & Student Apple

iPad Refresh Purchase

November 25, 2025

#### **STRATEGIC PLAN/BOARD GOAL:**

Goal 2: Operational Improvement

#### **ABSTRACT:**

Board approval is required for services that exceed \$50,000.

#### **ISSUE:**

At issue is for the Board to approve the purchase of student and staff iPads and cases from Apple and Intellitech, respectively, for a total amount not to exceed \$524,965.00.

#### **BACKGROUND AND/OR PERTINENT INFORMATION:**

The original Staff and Student iPad fleet is scheduled for refreshing in 2025-2026. Technologies have changed and improved over the years and it is time to improve the classroom ecosystem as the current iPads will no longer be supported with operating system and security updates. Educational staff will get the refreshed iPad Air that has more room on the hard drive, capable of higher processing speeds, allows staff to run more applications at one time, and leverage Apple Intelligence tools which would save time weekly. Students will get refreshed iPads with updated capabilities.

These items have been budgeted using the Technology Capital Improvement funds.

Vendor	INTENT	Part Number	Item	Number	Unit Cost	Total
APPLE	Student iPad	MD6L4LL/A	iPad Wi-Fi 128GB - Silver (Packaged in a 10-pack)	900	\$ 324.00	\$291,600.00
Single-Source			11-inch iPad Air Wi-Fi 128GB - Space Gray			
	Staff iPad	MCDY4LL/A	(Packaged in a 10-pack)	250	\$ 539.00	\$134,750.00
					Subtotal	\$426,350.00
			Otterbox iPad (A16) and iPad (10th gen) Tablet			
	PK Case		Case with Screen Protector - Kids EasyGrab	95	\$ 39.00	\$ 3,705.00
INTELLITEOU	K-2 Case	BV672LL/A	Brenthaven 360 for iPad (A16)	460	\$ 35.00	\$ 16,100.00
(Lowest Cost from			Logitech Rugged Combo 4 Touch Case with Integrated Smart			
Comparison)	3-4th Case	HQ6P2ZM/A	Connector Keyboard for iPad (A16) - Blue	310	\$ 96.00	\$ 29,760.00
Companson			Logitech Combo Touch Keyboard Case for iPad Air			
	Staff Case	HRH12ZM/A	11-inch (M3 and M2)	250	\$ 175.00	\$ 43,750.00
			Shipping			\$ 5,300.00
					Subtotal	\$ 98,615.00
			Full iPad Refresh Costs - Te	chnology C	apital Funds	\$ 524,965.00

#### **ALTERNATIVES:**

1. Approve the purchase of student and staff iPads and cases from Apple and Intellitech, respectively, for a total amount not to exceed \$524,965.00 as presented;

- 2. Do not approve the purchase of student and staff iPads and cases presented;
- 3. Take no final action.

## **ADMINISTRATION'S RECOMMENDATION:**

The administration recommends Board approval of the purchase of student and staff iPads and cases from Apple and Intellitech, respectively, for a total amount not to exceed \$524,965.00 as presented.



# Apple Inc. Education Price Quote

**Customer:** 

Amy Eakin NORTHWEST ARCTIC BOROUGH SD ACCOUNTS PAYABLE

Phone: 1907-442-3472 Email: aeakin@nwarctic.org Apple Inc:

Ron DeWitt

Email: rdewitt2@apple.com

**Apple Quote:** 

2213941968

**Quote Date:** 

October 29, 2025

Quote Valid Until: November 28, 2025

#### **Quote Comments:**

Item #	Details	Qty	Unit List Price	Extended List Price
1	iPad Wi-Fi 128GB - Silver (Packaged in a 10-pack) Part Number: MD6L4LL/A	900	\$324.00	\$291,600.00
2	11-inch iPad Air Wi-Fi 128GB - Space Gray (Packaged in a 10-pack) Part Number: MCDY4LL/A	250	\$539.00	\$134,750.00

\$426,350.00	Education List Price Total
\$0.00	Additional Tax
\$0.00	Estimated Tax
\$0.00	Total Tax
\$426,350.00	Extended Total Price*

<sup>\*</sup>In most cases Extended Total Price does not include Sales Tax
\*If applicable, eWaste/Recycling Fees are included. Standard shipping is
complimentary

Apple Quote ID: 2213941968

### **Disclosure**

This document has been created for you as Apple Quote ID 2213941968.

Your institution's Authorized Purchaser may submit an order online at <a href="https://ecommerce.apple.com">https://ecommerce.apple.com</a>. Go to the Quote area of your Apple Online Store, click on it and convert to an order.

• If you're the authorized purchaser and need assistance in registering for access to the Apple Online Store, please contact your Apple Sales Representative.

This is a quote for the sale of products or services. Your use of this quote is subject to the following provisions which can change on subsequent quotes:

- A. Any order that you place in response to this Quote will be governed by the purchase agreement between Apple Inc. ("Apple") and you or another entity under which you're authorized to purchase under, in effect at the time you place the order.
  - If you do not have a purchase agreement in effect with Apple, please contact <a href="mailto:csteam.edu@apple.com">csteam.edu@apple.com</a>.
- B. All sales are final. Please review Return Policy below if you have any questions. If you use your institution's Purchase Order form to place an order in response to this Quote, Apple rejects any Terms set out on the Purchase Order that are inconsistent with or in addition to the Terms of the governing purchase agreement between the parties.
- C. Unless this Quote specifies otherwise, it remains in effect until the Quote Valid Until Date set forth above. Apple reserves the right to withdraw this Quote before an order is placed, modify, or cancel any provision of this Quote, or cancel any orders placed.

Apple Quote ID: 2213941968

1652 Yeager Avenue La Verne, CA 91750 (909) 394-5188 fax (909) 394-5190



Estimated Freight

E-Waste Fee

Grand Total \$

\$

5,300.00

98,615.00

DATE **QUOTATION NO.** 11/07/25 AE110725A-SP **ACCOUNT REP** BILLING CONTACT **Northwest Arctic School District** Samantha Pilcher **AMY EAKIN** AEAKIN@nwarctic.org 744 Third Ave /PO BOX 51 909-480-4459 907-442-1830 Kotzebue, AK 99752 samantha@intelli-tech.com **Attn: Account Payable PURCHASE ORDER NO** SHIP **TERMS** RFQ# **Northwest Arctic School District NET 30** 776 Third Ave /PO BOX 51 **DEPARTMENT FOB** Kotzebue, AK 99752 **FGHT** Attn: AMY EAKIN Qtv Part No. **ETA Price Extended** OTTERBOX EASYGRAB CASE IPAD 10TH 1 95 77-93871 2-3 weeks \$39.00 \$3.705.00 **GEN/A16 NEVER BLUE** 2 460 2906 2-3 weeks \$35.00 \$16,100.00 **BRENTHAVEN 360 for iPad 10th Gen Logitech Rugged Combo 4 Touch Rugged** Keyboard/Cover Case (Folio) for 10.9" Apple 3 310 920-011130 iPad (10th Generation & A16) iPad, Stylus -2-3 weeks \$96.00 \$29,760.00 Classic Blue - Drop Resistant - 0.8" Height x 10.1" Width x 7.7" Depth - 1 Pack Logitech Combo Touch iPad Air 11-inch (M2 & M3), iPad Air (5th gen) Keyboard Case -Detachable backlit keyboard with kickstand -4 250 2-3 weeks \$175.00 \$43,750.00 Oxford Grey - Scuff Resistant, Scratch 920-012626 Resistant - 9.9" Height x 7.4" Width x 0.6" Depth \$ Sub-total \$93,315.00 NOTE: PRICING AND AVAILABILITY IS SUBJECT TO CHANGE WITHOUT NOTICE Sales Tax